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1 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

4

1 2
0.5

1

1.51 2

1

2

3

)|
 [
p

b
]

t
/d

|y
(t

σ
d

1 2
0.5

1

1.5

D
a

ta
P

re
d

.

⊂) / GeVt= 0: m(t
jet

N

[300,400] [400,500] [500,1500]

⊂) / GeVt= 1: m(t
jet

N

[300,400] [400,500] [500,1500]

⊂) / GeVt= 2: m(t
jet

N

[300,400] [400,500] [500,1500]

⊂) / GeVt> 2 : m(t
jet

N

[300,400] [400,500] [500,1500] 48=Data, dof

176=2χPOW+PYT,

736=2χFxFx+PYT,

161=2χPOW+HER,

Total unc.

Stat. unc.

)|t|y(t

CMS (13 TeV)-1138 fbDilepton, particle level


